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Two Variable System of Inequalities - Graphing
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-X+3y>6

4X + 3y > -9

2y
y<-3X 2
y<~"§x+4

5x+2y<6

X + 2y < -2
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5X + 2y > -4

-X+2y <8

-3x+2y<8

BX + 2y = -8
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Match each inequality to the graph of its solution.
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Graph each inequality/ system of r'neﬁm.ﬁ.- hes

5. 3x+y=-3 132—3;(-3 é 4x+3y>-6
X+2ys<4 - 24L& -X+ 4 Xx-3y<-9
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Critical thinking quegtions:

7, Stateonesolution to the system &, Write asystem of inequalities whose solution

y<2x-1 isthe st of 4l pointsinquadrehtlnotincluding
y=10-x the axes.
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l) Glitterland Gem Company produces necklaces and bracelets. The people work a
maximum of 40 hours per week. The company has at most 400 gems to use. A
necklace requires 40 gems and a bracelet requires 10 gems. It takes Z hours to
produce a necklace and one hour to produce abrace E ow many of each type of

jewelry can be produced in a week.
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(b) Give one solution for the system. Verify. 43
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2) Suppose you buy flour and cornmeal in bulk to make flour tortillas and corn
tortillas. Flour cost $1.50/1b. Cornmeal costs $2.50/1b. You want to spend less than
$15 on flour and cornmeal, and you need at least 4 b. altogether. '/ ——} }5 ( lcuy™
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(0 pv (a) Write a system of inequalities and graph.
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